N of reco track vs dxy(PV) | N of associated (recoToSim) tracks vs dxy(PV)

5-20-15-10 -5 0 5 10 15 20 25 —25 20 15 10 -5 0 5 10 15 20 25

N of associated (recoToSim) looper tracks vs dxy(PV)

N of reco track vs

—— DQM_DisplacedSUSY__mkFit_BDT_
——— DQM_DisplacedSUSY__mkFit_

10*

10°

10?

b

0.9( 11

0.8!

N of reco track vs dz(PV)

= —08—06—04—02 0 02040608 L

N of reco track vs dz(PV)

Tl

=30 -20 —10 20 30

N of associated (recoToSim) tracks vs dz(PV) |

u Hl

1080604020 02040608 1 09 080604020 02040608

N of associated (recoToSim) looper tracks vs dz(PV)

-30 -20 -10 O 10 20 30 -30 -20 -10 0 10 20 30




	Contents
	Page 1


